1. Schrieffer Wolff Transformation



Virtual Valence fluctuations in the singlet channel, induced by hybridization

$$\begin{array}{ll} e_{\uparrow}^{-} + f_{\downarrow}^{1} \leftrightarrow f^{2} \leftrightarrow e_{\downarrow}^{-} + f_{\uparrow}^{1} & \Delta E_{I} \sim U + E_{f} \\ h_{\uparrow}^{+} + f_{\downarrow}^{1} \leftrightarrow f^{0} \leftrightarrow h_{\downarrow}^{+} + f_{\uparrow}^{1} & \Delta E_{II} \sim -E_{f} \end{array}$$

1. Schrieffer Wolff Transformation



Virtual Valence fluctuations in the singlet channel, induced by hybridization

$$\begin{array}{ll} e^-_{\uparrow} + f^1_{\downarrow} \leftrightarrow f^2 \leftrightarrow e^-_{\downarrow} + f^1_{\uparrow} & \Delta E_I \sim U + E_f \\ h^+_{\uparrow} + f^1_{\downarrow} \leftrightarrow f^0 \leftrightarrow h^+_{\downarrow} + f^1_{\uparrow} & \Delta E_{II} \sim -E_f \end{array}$$

From second order perturbation theory, the energy of c-f singlets reduces by an amount 2J, where

$$J = V^2 \left[\frac{1}{\Delta E_1} + \frac{1}{\Delta E_2} \right]$$

1. Schrieffer Wolff Transformation



Virtual Valence fluctuations in the singlet channel, induced by hybridization

$$\begin{array}{ll} e_{\uparrow}^{-} + f_{\downarrow}^{1} \leftrightarrow f^{2} \leftrightarrow e_{\downarrow}^{-} + f_{\uparrow}^{1} & \Delta E_{I} \sim U + E_{f} \\ h_{\uparrow}^{+} + f_{\downarrow}^{1} \leftrightarrow f^{0} \leftrightarrow h_{\downarrow}^{+} + f_{\uparrow}^{1} & \Delta E_{II} \sim -E_{f} \end{array}$$

From second order perturbation theory, the energy of c-f singlets reduces by an amount 2J, where

$$J = V^2 \left[\frac{1}{\Delta E_1} + \frac{1}{\Delta E_2} \right]$$
$$H_K = -2JP_{S=0} = -2J \left[\frac{1}{4} - \frac{1}{2}\vec{\sigma}_c(0) \cdot \vec{S}_f \right] \to J\vec{\sigma}_c(0) \cdot \vec{S}_f$$

Antiferromagnetic interaction





"A 75 year odyssey"





Kondo (1962)





"A 75 year odyssey"





Kondo (1962)



 $J\rho \rightarrow J\rho + 2(J\rho)^2 \ln(D/T) + \dots$



"A 75 year odyssey"



 $H = \sum \epsilon_k c^{\dagger}_{k\sigma} c_{k\sigma} + J(\psi^{\dagger} \vec{\sigma} \psi) \cdot \vec{S}$

Kondo (1962)



 $J\rho \to J\rho + 2(J\rho)^2 \ln(D/T) + \dots$



U ⊥∞



 ∞



 ∞





















 $H(\Lambda) = \left[\frac{H_L}{V} \left|\frac{V^{\dagger}}{H_H}\right],\right]$















Anderson and Yuval 1969, Anderson 1973



Second-order ptbn theory



Anderson and Yuval 1969, Anderson 1973



Second-order ptbn theory



Anderson and Yuval 1969, Anderson 1973 $H = \sum_{|\epsilon_k| < D} \epsilon_k c_{k\sigma}^{\dagger} c_{k\sigma} + \overline{J(D)} \sum_{|\epsilon_k|, |\epsilon'_k| < D} c_{k\alpha}^{\dagger} \vec{\sigma}_{\alpha\beta} \cdot \vec{S}_f$

"Poor Man's" Scaling Anderson and Yuval 1969, Anderson 1973 $H^{I} \qquad T_{ab}(E) = \sum_{\lambda \in |H\rangle} \left[\frac{H^{(I)}_{a\lambda} H^{(I)}_{\lambda b}}{E - E^{H}_{\lambda}} \right]$ $H = \sum_{|\epsilon_{k}| < D} \epsilon_{k} c^{\dagger}_{k\sigma} c_{k\sigma} + J(D) \sum_{|\epsilon_{k}|, |\epsilon'_{k}| < D} c^{\dagger}_{k\alpha} \vec{\sigma}_{\alpha\beta} \cdot \vec{S}_{f}$



"Poor Man's" Scaling Anderson and Yuval 1969, Anderson 1973 $H^{I} \qquad T_{ab}(E) = \sum_{\lambda \in |H\rangle} \left[\frac{H_{a\lambda}^{(I)} H_{\lambda b}^{(I)}}{E - E_{\lambda}^{H}} \right]$ $H = \sum_{|\epsilon_{k}| < D} \epsilon_{k} c_{k\sigma}^{\dagger} c_{k\sigma} + J(D) \sum_{|\epsilon_{k}|, |\epsilon_{k}'| < D} c_{k\alpha}^{\dagger} \vec{\sigma}_{\alpha\beta} \cdot \vec{S}_{f}$





'a" Caaling "

$$\begin{aligned} & \text{Poor Man's" Scaling} \\ & \text{Anderson and Yuval 1969,} \\ & \text{Anderson 1973} \\ & H = \sum_{|\epsilon_k| < D} \epsilon_k c_{k\sigma}^{\dagger} c_{k\sigma} + \overline{J(D)} \sum_{|\epsilon_k|, |\epsilon'_k| < D} c_{k\alpha}^{\dagger} \vec{\sigma}_{\alpha\beta} \cdot \vec{S}_f \end{aligned} \\ & \delta H_{ab}^{int} = \frac{1}{2} [T_{ab}(E_a) + T_{ab}(E_b)] \\ & T_{ab}(E) = \sum_{\lambda \in |H_{\lambda}|} \left[\frac{H_{a\lambda}^{(I)} H_{\lambda b}^{(I)}}{E - E_{\lambda}^{H}} \right] \end{aligned}$$









































$$\approx -\frac{J^2\rho\delta D}{D}(\sigma^b\sigma^a)_{\beta\alpha}(S^aS^b)_{\sigma'\sigma}$$



$$\approx \frac{J^2 \rho \delta D}{D} (\sigma^a \sigma^b)_{\beta \alpha} (S^a S^b)_{\sigma' \sigma}$$





 $\approx -\frac{J^2 \rho \delta D}{D} (\sigma^b \sigma^a)_{\beta \alpha} (S^a S^b)_{\sigma' \sigma}$

 $\approx \frac{J^2 \rho \delta D}{D} (\sigma^a \sigma^b)_{\beta \alpha} (S^a S^b)_{\sigma' \sigma}$







 $\hat{T}^{I} \approx -\frac{J^{2}\rho\delta D}{D} (\sigma^{b}\sigma^{a})_{\beta\alpha} (S^{a}S^{b})_{\sigma'\sigma}$

 $\hat{T}^{II} \approx \frac{J^2 \rho \delta D}{D} (\sigma^a \sigma^b)_{\beta \alpha} (S^a S^b)_{\sigma' \sigma}$







 $\hat{T}^{I} \approx -\frac{J^{2}\rho\delta D}{D} (\sigma^{b}\sigma^{a})_{\beta\alpha} (S^{a}S^{b})_{\sigma'\sigma}$

 $\hat{T}^{II} \approx \frac{J^2 \rho \delta D}{D} (\sigma^a \sigma^b)_{\beta \alpha} (S^a S^b)_{\sigma' \sigma}$

$$\delta H^{int}_{k'\beta\sigma';k\alpha\sigma} = \hat{T}^{I} + T^{II} = -\frac{J^{2}\rho\delta D}{D} [\sigma^{a},\sigma^{b}]_{\beta\alpha} (S^{a}S^{b})_{\sigma'\sigma}$$







$$\hat{T}^{I} \approx -\frac{J^{2}\rho\delta D}{D} (\sigma^{b}\sigma^{a})_{\beta\alpha} (S^{a}S^{b})_{\sigma'\sigma}$$

 $\hat{T}^{II} \approx \frac{J^2 \rho \delta D}{D} (\sigma^a \sigma^b)_{\beta \alpha} (S^a S^b)_{\sigma' \sigma}$











$$\frac{\partial g}{\partial \ln D} = \beta(g) = -2g^2 + O(g^3).$$

$$(g = \rho J)$$

$$\frac{\partial g}{\partial \ln D} = \beta(g) = -2g^2 + O(g^3).$$

$$(g = \rho J)$$

$$\frac{\partial g}{\partial \ln D} = \beta(g) = -2g^2 + O(g^3).$$

$$(g = \rho J)$$

$$g(D') = \frac{g_o}{1 - 2g_o \ln(D/D')}$$
$$T_K = D \exp\left[-\frac{1}{2g_o}\right]$$
$$2g(D') = \frac{1}{\ln(D'/T_K)}$$



perturbation in 1/g

Outline of the Topics

- 1. Trends in the periodic table.
- 2. Introduction: Heavy Fermions and the Kondo Lattice.
- 3. From Anderson to Kondo
- 4. Kondo Insulators: the simplest heavy fermions.
- 5. Oshikawa's Theorem.
- 6. Large N expansion for the Kondo Lattice
- 7. Heavy Fermion Superconductivity
- 8. Topological Kondo Insulators
- 9. Co-existing magnetism and the Kondo Effect.





Actually, his is the Mechanical momentum: the canonical momentum is Unchanged.



Fermi-Loqued (2D)
$$S\vec{p} = \frac{2\pi}{Lx} \hat{x} = Sp_x \hat{x}$$

$$\Delta \vec{P} = \sum \delta n_{p} \vec{p}$$

$$\Delta P_{x} = \sum \delta n \rho \rho_{x} = \frac{L_{x}L_{y}}{(2\pi)^{2}} \left(\delta \vec{p} \cdot d\vec{s} \right) \rho_{x}$$

$$= \frac{L_{x}L_{y}}{(2\pi)^{2}} \int \left(\delta \rho_{x} \rho_{x} \hat{s} \right) \cdot d\vec{s}$$

$$= \frac{L_{x}L_{y}}{(2\pi)^{2}} \int dV \nabla \vec{p} \cdot \left(\delta \rho_{x} \rho_{x} \right) = \frac{L_{x}L_{y}}{(2\pi)^{2}} \delta \rho_{x} \int dV$$

$$= \frac{L_{x}L_{y}}{(2\pi)^{2}} \delta \rho_{x} \int dV$$

$$\Delta P_{x} \approx \frac{2\pi}{L_{x}} \qquad L_{x}L_{y} \qquad \frac{V_{Fs}}{(2\pi)^{2}}$$

$$2\pi v L_{y} = \frac{2\pi}{L_{x}} \frac{V_{FT}}{(2\pi)^{2}} L_{x}L_{y} + 2\pi m_{x}$$

$$2\pi v L_{x} = \frac{2\pi}{L_{y}} \frac{V_{FT}}{(2\pi)^{2}} L_{x}L_{y} + 2\pi m_{y}$$

$$v = \frac{N}{L_{x}L_{y}}$$

$$V = \frac{N}{L_{x}}$$

$$V = \frac{2\pi}{L_{x}}$$

$$V = \frac{2\pi}{L_{x}}$$

$$V = \frac{1}{L_{x}}$$

$$V = \frac{1}{L_{x}}$$

$$V = \frac{1}{L_{x}L_{y}}$$



$$\begin{split} H[\widehat{\Phi}_{0}]|\Psi_{0}'\rangle &= E|\Psi_{0}'\rangle \\ U^{\dagger}H[0]U|\Psi_{0}'\rangle &= E [\Psi_{0}'\rangle \\ \Rightarrow h[0]U|\Psi_{0}'\rangle &= E U|\Psi_{0}'\rangle \\ \xrightarrow{I\widetilde{\Psi}_{0}'} \\ \xrightarrow{I\widetilde{\Psi}_{0}'} \\ \xrightarrow{I\widetilde{\Psi}_{0}'} \\ \xrightarrow{I\widetilde{\Psi}_{0}'} \\ \xrightarrow{I\widetilde{\Psi}_{0}'} \\ \xrightarrow{I}_{x}|\Psi_{0}\rangle &= e^{-iP_{x}'}|\Psi_{0}\rangle \quad |\Psi_{0}\rangle \xrightarrow{I}_{y}|\Psi_{0}'\rangle \\ \xrightarrow{T_{x}}|\Psi_{0}\rangle &= e^{-iP_{x}'}|\Psi_{0}\rangle \quad |\Psi_{0}\rangle \xrightarrow{I}_{y}|\Psi_{0}'\rangle \\ \xrightarrow{T_{x}}|\Psi_{0}\rangle &= e^{-iP_{x}'}|\Psi_{0}\rangle \quad |\Psi_{0}\rangle \xrightarrow{I}_{y}|\Psi_{0}'\rangle \\ \xrightarrow{T_{x}}|\Psi_{0}\rangle &= e^{-iP_{x}'}|\Psi_{0}\rangle \xrightarrow{T_{x}} \\ \xrightarrow{I}_{y}|\Psi_{0}\rangle &= e^{-iP_{x}'}|\Psi_{0}'\rangle \Rightarrow U^{\dagger}_{x}u|\Psi_{0}\rangle &= e^{-iP_{x}}|\Psi_{0}\rangle \\ \xrightarrow{I}_{x}|\Psi_{0}'\rangle &= e^{-iP_{x}}|\Psi_{0}'\rangle \Rightarrow U^{\dagger}_{x}u|\Psi_{0}'\rangle &= e^{-iP_{x}}|\Psi_{0}\rangle \\ U^{\dagger}_{x}T_{x}U|\Psi_{0}'\rangle &= e^{\chi}p\left(-\frac{2\pi i}{T_{x}}En_{x}\right)T_{x}|\Psi_{0}'\rangle \\ \xrightarrow{I}_{y}|\Psi_{0}'\rangle &= e^{\chi}p\left(-\frac{2\pi i}{T_{x}}En_{x}\right)T_{x}|\Psi_{0}'\rangle \\ \xrightarrow{I}_{y}|\Psi_{0}'\rangle &= e^{\chi}p\left(-\frac{2\pi i}{T_{x}}En_{x}\right)T_{y}|\Psi_{0}'\rangle \end{aligned}$$

$$u^{\dagger} T_{y} u = u^{\dagger} e_{x} \rho \int \frac{2\pi i}{L} \left\{ \sum \left(\sum \left(\sum \left(x + \alpha \right) \right) \right) T_{y} \right\} \right\}$$
$$= u^{\dagger} e_{x} \rho \int \frac{2\pi i}{L_{x}} \left(\sum \left(\sum \left(x + \alpha \right) \right) \widehat{n}_{x+\alpha} - \alpha \sum \left(\widehat{n}_{x+\alpha} + L_{x} \widehat{n}_{x+\alpha} \right) T_{x} \right)$$

$$= e_{xp} \left[\frac{2\pi i}{L_x} \sum_{x} \hat{n_y} \right] T_x$$

$$P_{x} = P_{x}^{\circ} + \frac{2\pi}{L_{x}} N + 2\pi m_{x}$$

$$\frac{P_{x} - P_{x}^{\circ}}{L_{x}}$$

$$\frac{2\pi}{L_{x}} \frac{V_{Fs} L_{x} L_{y} \dots L_{p}}{(2\pi)^{p}} = -2\pi m_{x} + \frac{2\pi}{L_{x}} N$$

$$\Rightarrow N - \frac{V_{Fs}}{(2\pi)^{p}} V = m_{x} h_{x}$$

$$N - \frac{V_{Fs}}{(2\pi)^{p}} V = m_{y} h_{y}$$

$$N - \frac{V_{Fs}}{(2\pi)^{p}} V = m_{y} h_{y}$$

$$= p L_{x} L_{y} L_{z} \dots L_{p}$$

$$\Rightarrow N - \frac{N}{V} = \frac{V_{Fs}}{(2\pi)^{p}} + \frac{p}{V} L_{u} T_{i} N_{o} E_{R}$$

$$Sum Rule$$

KONDO LATTICE

$$H = \sum t_{ij} c_{i\sigma} c_{j\sigma} + \Im \sum c_{j\sigma} c_{j} \cdot S_{j}$$
$$+ U \sum c_{j\tau} c_{j\tau} c_{j\tau} c_{j\tau}$$



Flux Insertion Single Spin Component

$$H \rightarrow \gtrsim t_{ij} c_{i\sigma}^{+} e^{-i\int_{r}^{i} dx} c_{j\sigma} + \Im \gtrsim \vec{\sigma}_{j} \cdot \vec{s}_{j} + \Im \simeq n_{cr(j)} n_{cl(j)}$$

 $A_{\sigma} = \begin{cases} A_{\tau} & \sigma = \tau & A_{\tau} = \frac{2\pi}{L_{\chi}} \\ 0 & oherwise \end{cases}$
 $H(\vec{\Phi}) = U^{\dagger} H(\vec{\rho}) U$
We require a U so that:

$$\begin{aligned} u^{\dagger}c_{j\sigma}u &= e^{\frac{2\pi i}{t_{x}}x_{j}}c_{j\sigma}. \\ u^{\dagger}(\sigma_{j}.s_{j})u &= (\sigma_{j}.s_{j}). \end{aligned}$$

$$\begin{split} \mathcal{U}_{\tau} &= \exp\left[\frac{2\pi i}{L} \sum_{i=1}^{\infty} \left(n_{j} \mathbf{r} + S_{zj}\right)\right)\right] \\ \sigma_{j} \cdot S_{j} &= \sigma_{j}^{2} S_{j}^{2} + \sigma_{j}^{+} S_{j}^{-+} \sigma_{j}^{-} S_{j}^{+-} \\ \mathcal{U}_{j}^{+} \mathcal{U} &= \sigma_{j}^{2} \\ \mathcal{U}_{j}^{+} \sigma_{j}^{+} \mathcal{U} &= \exp\left[-2\pi i \times_{j}\right] \sigma_{j}^{+} \\ \mathcal{U}_{j}^{+} \sigma_{j}^{+} \mathcal{U} &= \exp\left[-2\pi i \times_{j}\right] \sigma_{j}^{+} \\ \mathcal{U}_{j}^{+} S_{j}^{-} \mathcal{U} &= \exp\left[+2\pi i \times_{j}\right] S_{j}^{-} \\ \mathcal{U}_{j}^{+} S_{j}^{-} \mathcal{U} &= \exp\left[+2\pi i \times_{j}\right] S_{j}^{-} \\ \mathcal{U}_{j}^{+} S_{j}^{-} \mathcal{U} &= \exp\left[+2\pi i \times_{j}\right] S_{j}^{-} \\ \mathcal{U}_{j}^{+} \mathcal{U}_{k}^{-} \mathcal{U} &= 2 \\ \mathcal{U}_{j}^{+} \mathcal{U}_{k}^{-} \mathcal{U}_{k}^{-} \mathcal{U}_{k}^{-} \mathcal{U}_{k}^{-} \mathcal{U}_{k}^{-} \mathcal{U}_{k}^{+} \mathcal{U}_{k}^{-} \right] \\ &= \exp\left[-2\pi i \times_{j}^{2} \mathcal{U}_{k}^{+} \alpha\right) \left(n_{j+\alpha} + S_{j+\alpha}^{2}) - \alpha\left(n_{j+\alpha} + S_{j+\alpha}^{2}\right)\right] \\ &= \exp\left[-2\pi i \times_{j}^{2} \mathcal{U}_{k}^{+} \alpha\right) \left(n_{j+\alpha} + S_{j+\alpha}^{2}) - \alpha\left(n_{j+\alpha} + S_{j+\alpha}^{2}\right)\right] \end{split}$$

$$(Lta)S_{L+a}^{z} = (Lta)S_{I}^{z}$$
$$= aS_{i}^{z} + LS_{i}^{z}$$
$$= \chi_{i}S_{i}^{z} + LS_{i}^{z}$$
$$Ln_{L+a} = \chi_{i}n_{i} + L\chi_{i}$$

$$T_{\mathbf{x}} \mathcal{U} = e_{\mathbf{x}p} \left\{ \frac{2\pi i}{L_{\mathbf{x}}} \sum_{j}^{2} \left(n_{j\tau} + S_{j}^{2} \right) + \left(n_{j\tau} + S_{j}^{2} \right) \delta_{\mathbf{x}_{j,1}} \right. \\ \left. + \frac{2\pi i}{L} \sum_{j}^{2} \left(n_{j\tau} + S_{j}^{2} \right) \right\} T_{\mathbf{x}}$$

$$U^{\dagger} T_{\star} U = \exp \left[-\frac{2\pi i}{L_{\star}} \left(N_{T} + M^{2} \right) + \frac{2\pi i \left\{ S_{i, j}^{2} \right\}}{L_{\star, j}} \right] T_{\star}$$

$$U^{\dagger} 7_{*} U | \psi'_{0} 7 = e^{-iP_{*}} | \psi'_{0} \rangle$$

= $e^{-iP_{*}} e_{*} p \left[\frac{2\pi i (N_{r} + M^{2})}{L_{*}} + 2\pi i \xi^{3} \right] | \psi'_{0} \rangle$

$$\frac{2\pi}{L_{x}} \frac{V_{FSr} V}{(2\pi)^{9}} = \frac{2\pi}{L_{x}} \left(N_{f} + M^{2} \right) + 2\pi S V + \rho_{r}$$

$$\frac{2\pi}{L_{x}} = \frac{2\pi}{L_{x}} \left(N_{J} - M^{2} \right) + 2\pi S V + \beta_{L}$$

$$2 V_{FS} V = (N_e + 2S) V + m_x L_x$$

$$(n_y L_y)$$

$$(n$$

$$\frac{1}{V}$$